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1. TP WA IgaaSl WRTHY F PGl B Heal @il § —
@) 2 (@) 4 @) 8 (@) 10 1
The number of chambers in a typical gymnospermic anther is- .
(a) 2 (b) 4 (c) 8 (d)y 10
2. e uRued " T (i) & Fior @ ufear B wed ¥ - 1
(@) sfsa (@) gspor WEEUSER GEEINGEE]
The process of building a mature female gamete is known as-
(a) Oogenesis (b) Spermatogenesis  (¢) Apomixis {d) Sporogenesis
3. W B AR, T A ¥ P W A s (@R 1
(@) 991 T Ud HHE Hel (@) sl B vd B a9
(M) S e v T A (5) Pl BS well vd iR S
According to Mendel, which of the following is dominant character (trait)-
(a) Dwarf stem and white flower (b) Terminal flower and green seed
(c) Violet flower and tall stem (d) Inflated pod and wrinkled seed
4. Frefafed ¥ ardRie Be B e FT HM B B o— 1
(@) IR IR TT ¢ (@) TH IR TTT
(M amTI v (@) T ARTAT
Who does the work of reading the genetic code in the following-
(a) TRNA (b) mRNA
(c) tRNA (d) hnRNA
5. WRd 3 eRT wifsg & e @1 M fofan) 1
Write the name of the father of Green Revolution in India.
6 T fafrear &1 |d wer wAnT S AR fHw forv féay am o ? Yot 1h=1
When and how was the first use of gene therapy used ?
7. Ty=tifea soal # qRoNfdr § wefaaa 39 ° $Y 9 © 7 1
(&) T Sild @ o B B |
(@) <=1 Sfdl ®F o B 2 |
(1) T SNg @Y o BT &, ORI Wi el el 2 |
(5) T ST B A BT B, AN WIS T 8
Which statement best describes parasitism in the following statements ?
{a) An organism benefits.
(b) Both organism benefits.
(c) An organism has the advantage, the second is not affected.
(d) An organism has the advantage, the second is affected.
8. YA (Rpieeer) = @ 7 ' 1

What is reforestation ?
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20.

faed Yarvey Ao & AR ST Wareed B g fRey | 2
According to theWorld Healh Organization, write definition of reproductive health .

O 6 6 A § ACIpii~gaT uig W & T SHET 741 B ® P 141=2
In which part of the sperm are found mitochondrion and what is the function of it 2

agar (OR)

FWT B B3 1 w1 forfay |

Write any two functions of placenta.

G rdfere! § geadl seagd & S5 o SuAn forfey | 1+1=2
Write any two uses of pedigree in human genetis.

o, =39, DANGAGST Ud FHard TR & b amr o 9 wnflg e § 2 4xY5=2
Smack, charas, cannabinoids and nicotine affect which part of the body directly ? .

U T § T g9 i By B § ? 14+1=2
What is Pomato and how it is produced ?

T Sta 9Dl B Bls AR Jereey| forfay | 4x15=2
Write any four examples of Natural Bio fertilizers.

JFGATETERGH T § TAT BT T 9O B ? 1+1=2
What is vaculoviruses and what is the use of them ?

I Wi Y] AISIARGRA-Y BT Iedred fba wacs W a7 S & e ST Suhn

Bl far aImar & ? 1+1=2
Bio-active molecule Cyclosporine ‘A’ is produced from which fungus and where it is used ?
qikRerferes T # Sort a1 fRifiie a95Y a9 Tagy {5 SaTeel ¥ SUEE 'R 9% Bo B
AT W Fg] g BT § P 1+1=2
Create a pyramid of energy in the ecosystem and tell what changes occure in quantities of energy from
producers to the consumer level ?

HIRG § UIY SfF aTel A aR iRRefees Rfdearelt @ A fofg | 4xY5=2
Write the names of any four ecological variations found in India .

3a (OR)

F=ifeT &1 v faar fafag— 4xYs=2
(@) ¥ w1 Sh (@) g 7 & v

(M @ e & =) < Te W

Write the following word extention-
(a) CNG (b) [IUCN
(c) BOD . (d) CFC

T = AN & TA 98 e R A el & wre Sevmen wen @ 2 wwniar @ weg ande
T>eh TR T TAE Teal B 7 1+1+1=3
What is the menstrual cycle and how many days it is repeated after a period ? What is the effect of
menstrual cycle at the time of pregnancy ?
mwwwﬁmw%?mﬁﬁwﬁmmﬁwaﬁm
I | 1+2=3
What is Mendel’s Law of Independent Assortment ? Describe the Law of Independent Assortment
with the help of Punnette Squire .
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21, fIAAET @7 & ? SHGT WAl B AADa (93 F9Y q7 G5y B gD W A

C BH-d W &Ry e Afdd A Fed € 7 1+1+1=3
What is Nucleosome ? Draw a labeled diagram of its structure and tell which basic alkaline acids are
found in its protein ?

3er@r (OR)

frrifed % 1S &1 R s faRau— 1+1+1=3
(®) ¥ T U qd AR T ¥

() wAvfaaT g IuwITerT

(77) AR Td Jegwud (FHeHd)

Write any two main differences in the following-
(a) DNA and RNA.

{b) Dominant and recessive.

(c) Homology and analogy.

22. AHifehe Y@ 990 8¢ fEuejaid dlelgfderdicrse Sl © |l 6 SRAT Iy | 1%+1%=3
Explain the structure of the bivalent polynucleotide chain by creating a labelled linear diagram.

23. gifedwel S9ER & fAf= wRoll &1 Soeoig PN | TfedHa SYIR ¥ gersilal &f iE
e forfay | 2+1=3
Describe the different phases of sewage treatment . Write any two contribution of
micro-organisms in the treatment of sewage ?

24. Tyeifesa a1 wferer aofe entfora— 1+1+1=3
(@) St Ae[d BT Haa (SAFSIDINNE)

(@) S I (FrifeTen)

() 41 d 3TN 322 ( pBR322)
Briefly describe the following-
(a) Electrophoresis

(b) Biolistic

(c) pBR 322

25. 121 (Bt) @u1 8 wen Ug fhw Siam] § AT 81a1 € 7 39a SWNT & Scoid BRI ] 1+1+1=3

What is Bt and what is it made of bacteria ? Mention its use .
Far (OR)
S WEnfieT ¥ ey 99T WEEK € ? AMd B o gga & forg At &eit # gue
SN P JlEN0l Aied Seaid BI | 142=3
What do you think of biotechnology ? To illustrate the use of its use in different areas, to
benefit human beings .

26. Vo IINRRIfde 93 & i & wia ved &1 € 7 TS ooy wRRefte oFf 3 ol o arel
Teol # g wenfia B | _ 1Y+1%4=3
What are the main components of building an ecosystem ? Establish relationships between
components found in an aquatic ecosystem .

3irar (OR)
fFeTfeRad #1 Ierev |fed TRy Sifve— 1+1+4=3
(@) TvEToT () Fewirar : (1) It
Define the following with the example- :
(a) Predation (b) Fellowship {c) Competition
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27. ¥R | g fafderar &1 avi S | : 3
Describe Biodiversity in India .

28. <iffreh &1 T 2 ? Uredt # Afie S @ R wraveratt @1 qvi R 144=5
What is sexual reproduction ? Describe different stages of sexual reproduction in plants.

32 (OR)
TS T & ? AUSSIAA HHAT T Aavad R dfed avi Hif |
What is Oogenesis ? Describe the oogenesis process with the necessary diagrams.

20, YRGB AT & ? ARG Fdha G § B wael B e fead § 2 B wae
ﬁmwﬁwwwmw%?m@ﬁﬁﬁwﬁmm
PN | 1+14+1+2=5
What is genetic code ? What is the total number codons in genetic signiling method ? What
Codons are called starting codons and initiation codons ? Specify the characteristics of genetic code .

3@l (OR)
Frefafied &1 avfe #iftre-
(@) teciy fapR
(@) st g
Describe the following-
(a) Mendeleal disorder
{(b) Hardi-Venberg Theory :

30. AR 5 Fed € ? 59D W IO BT 9vF BIRG | I orIm Tl BT Seorg a9, fore
e &1 Y T Ug gl 2 142+2=5
What is population? Describe its key properties . Mention the basic processes, in which the density
of the population decreases and increases .

3ar (OR)
f=ferag wr fewol) fafeg—
() TeT UGHOT U4 IHBT fa—=or
(@) 9 eeg wE 2
() T EvEw | o B 9rfeny 1
Write notes on following-
(a) Water pollution and its control
(b) Green house effect )
(c) People’s involvement in forest conservation.
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